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QUESTION 1

Which of the following tasks requires the BACKUP ADMIN authorization? There are 2 correct answers to this question.
Response:

A. Backing up the database without a user interface.

B. Recovering the database without a user interface

C. Physically deleting data and log backups and obsolete versions of the backup catalog from the backup location.

D. Administration tasks executed on a tenant database through the system database.

Correct Answer: AC

QUESTION 2

Which of the following options are valid SAP HANA backup strategies? There are 2 correct answers to this question
Response:

A. A storage snapshot followed by incremental backups and differential backups
B. An offline backup followed by incremental backups and differential backups
C. A full data backup followed by incremental backups and differential backups
D. A data snapshot followed by incremental backups and differential backups

Correct Answer: AC

QUESTION 3

For scale-out SAP HANA systems, the recommended disk space for hana/shared/ depends on the
number of worker nodes.

A disk space of 1x RAM of one worker is recommended for every four worker nodes of a given scale- out
system.

Please choose the correct answer.

Response:

A. Size [installation(scale-out)] = 1 x RAM_of_worker per 3 worker nodes

B. Size [installation(scale-out)] = 1 x RAM_of_worker per 8 worker nodes

C. Size [installation(scale-out)] = 1 x RAM_of_worker per 4 worker nodes
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D. Size [installation(scale-out)] = 1 x RAM_of _worker per 2 worker nodes

Correct Answer: C

QUESTION 4

What are the prerequisites for configuring audit logging? There are 2 correct answers to this question. Response:
A. AUDIT ADMIN system privilege

B. INIFILE ADMIN system privilege

C. AUDIT OPERATOR system privilege

D. INIFILE OPERATOR system privilege

Correct Answer: AB

QUESTION 5

Which action do you perform when SAP HANA Database is running out of space Please choose the
correct answer.

Response:

A. Create a new tenant database

B. extend the file system size on the operating system level

C. create a new databse volume

D. extend the size of database volume

Correct Answer: C
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